
Answer to Many Measures  

1.Two rolls of tape are 35cm and 41cm long. What is their total length? What is 

the difference in their lengths? Total: 86cm, difference: 6cm  

 

2. An egg weighs about 50g. Roughly how much do 6 eggs weigh? About 300g  

 

3. A big potato weighs about 1/4kg. About how much would 10 potatoes weigh 

altogether? About 2.5kg  

 

4. A bottle of medicine holds 35ml altogether. A teaspoon holds 5ml. How 

many teaspoons of medicine are there in the bottle? 7 

 

Make sure answers include the measurement eg kg or g. For example, in 

question two the answer is not 300, it is 300g. If you only put 300, we don’t 

what the 300 hundred really means in these sorts of questions. It could mean 

300 rainbows or 300 eggs.  


